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The plane of rotation of a helicopter rotor is referred as (A) the tip-path
plane. (B) the wing plane. (C) rotor disk.
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2(0023019)

In order to solve the asymmetry of the lift on the tip-path plane for a
helicopter, what control system is designed? ( A) Collective-pitch-

control system. (B) Cyclic-pitch-control system. (C) Pedal-pitch-
control system.
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3(0023040)

Why does a tandem-rotor helicopter have less efficiency in forward
flight? (A) The back rotor is in the wake of the front one. (B) The
engine power is too small to support two rotors. (C) The back rotor
cannot perform forward flight.

ERHSINE BBy B RiL? (A) B2 %F v > ¥ o
R BN (B) SIFE S 2 b > 4 LA AR (C) 6 %
FLg »f7a

4(0057087)

Where each main rotor blade can flap, drag and feather independently of
other blades, the rotor system is termed (A ) Semi-rigid. (B)
Universal. (C) Full articulated.
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5(0023121)

In a helicopter, the lower fuselage includes the integral fuel tank and
provides the structure for the (A) landing gear/skid. (B) engine
compartment. (C) transmission compartment.
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6(0023187)

If the rotor rpm reduces by 10%, the total rotor thrust (not lift) will
reduced by (A) 0.05. (B) 0.1. (C) 0.2.
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7(0023110)

What turns the main rotor during autorotation? (A) The engine. (B)
Aerodynamic forces. (C) A downward inflow of air.




A p © %4 pF (autorotation) L e ¥ d @ iﬁﬁﬁé? (A) % & 56 4
B)ZF#3 (C)w TinraZ § F i

8(0023096)

What is the purpose of the cyclic-pitch control system ? (A) To cause
the tip-path plane of the main rotor to tilt as required to provide for
movement of the helicopter in a desired direction. (B) The control is
coordinated with the throttle control of the engine and the collective
pitch, thereby changing lift to all blades evenly. (C) To control the
collective pitch only.
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9(0023098)

Why is a tail rotor not required on tandem-rotor and coaxial rotor
helicopters? (A) The opposite rotation of the rotors causes one rotor to
cancel the torque of the other, thus eliminating the need for an antitorque
rotor. (B) The same rotation of the rotors causes one rotor to cancel the
torque of the other, thus eliminating the need for an antitorque rotor. (C)
The opposite rotation of the rotors causes one rotor to cancel the lift of
the other, thus eliminating the need for an antitorque rotor.
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10(0023086)

The vertical flight of a helicopter is controlled by (A) collective pitch
changes. (B) cyclic pitch changes. (C) increasing the RPM of the main
rotor.
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11(0023135)

About ground resonance, which description is not correct? (A) Itis a
self-excited vibration which occurs on the ground. (B) It is associated
with a semi-rigid rotor head. (C) It can be aggravated by slope landing.
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12(0023089)

Wheeling unit required between the engine and the helicopter
transmission is to (A) disconnect the rotor from the engine to relieve the
starter load. (B) automatically disengage the rotor from the engine in
case of an engine failure. (C) permit practice of autorotation landings.
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13(0023027)

If the rotor of a helicopter rotates COUNTERCLOKEWISE from top
view, what direction should the force of the tail rotor produce point? (A)
Right. (B) Left. (C) Up.
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14(0023099)

Which statement is correct concerning torque effect on helicopters ?

(A) As horsepower decreases, torque increase. (B) Torque direction is
the opposite of rotor blade rotation. (C) Torque direction is the same as
rotor blade rotation.
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15(0023023)

During cruising, the rotor blade stall might occur (A) uniformly. (B) at
the advancing rotor. (C) at the retreating rotor.
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16(0023018)

When a helicopter is cursing, the lift forces in the right hand side and the
left hand side of the tip-path plane are (A) asymmetric. (B) symmetric.
(D) uniform distribution.
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17(0023022)

What causes the movement of blade leading and lagging? (A)
Centrifugal force. (B) Acceleration and deceleration caused by
momentum conservation. (C) Gravity.
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18(0023024)

What is the height where the ground effect occurs? (A) 0.5 rotor
diameter. (B) 1 time rotor diameter. (C) 2 times rotor diameter.
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19(0049707)

A two bladed helicopter rotor on a central gimbal is called (A) quarter
articulated rotor. (B) fully articulated rotor. (C) semi rigid rotor.
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20(0023080)

A single-rotor helicopter wishing to move toward the 6:00 position
would need the highest blade pitch imputed at the (A) 12:00 position.
(B) 3:00 position. (C) 6:00 position.
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21(0023088)

In a hovering helicopter equipped with a tail rotor, directional control is
maintained by (A) tilting the main rotor disk in the desired direction. (B)
changing the tail rotor RPM. (C) varying the pitch of the tail rotor
blades.
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22(0023025)

What is the effect when a helicopter moves faster than 15 knots and the
lift of the rotor improves greatly? (A) Rotational lift. (B) Translational
lift. (C) Longitudinal lift.
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23(0056999)

The helicopter's normal axis is (A) through the centre of lift,
perpendicular to air flow. (B) through the centre of gravity, between the
main and tail rotor. (C) through the centre of gravity, perpendicular to
longitudinal and lateral axis.
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24(0023028)

Besides the antitorque force, what additional effect will the tail rotor
cause? (A) Longitudinal drift tendency. (B) Lateral drift tendency. (C)
Vertical drift tendency.
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25(0056888)

During an autorotative decent, rotor RPM will be (A) higher than in
powered flight. (B) lower than in powered flight. (C) approximately the
same as in powered flight.
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26(0056841)

To maintain the position of the helicopter with a decrease in air density,
the pilot must increase the(A) main rotor RPM. (B) cyclic pitch. (C)
collective pitch.
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27(0023157)

The mast usually absorbs (A) compression and torsional loads. (B)
tension and torsional loads. (C) compression and tension loads.
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28(0056931)

When carrying out blade tracking by using the flag method, (A) the
collective pitch lever would be fully down. (B) the collective pitch lever
would be mid-way between the down stop and the up stop. (C) the
cyclic stick would be fully forward.
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29(0056941)

The HUMS(Health and Usage Monitoring Systems) receives signals
from (A) transponders. (B) transformers. (C) transducers.
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30(0023094)

The ground cushion is usually effective to a height of approximately
one-half the diameter of the main rotor while the helicopter is (A)
cruising. (B) climbing. (C) hovering.
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31(0057765)

The cylinder in a life jacket is inflated using (A) CO2. (B) nitrogen. (C)
compressed air.
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32(0023074)

When the lift of an airfoil increases, the drag will (A) decrease. (B) not
be affected. (C) also increase.
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33(0057759)

Where would you find information on life-raft deployment? (A)
JARs(Join Air Worthiness Regulations). (B) Cabin safety on-board card.
(C) Flight operations manual.
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34(0023063)

As the number of rivets in an area increases, the (A) shear load-carrying
capability decreases. (B) tensile load-carrying capability of the sheet
decreases. (C) the repair becomes stronger.
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35(0056971)

In the ATA 100 zonal system the passenger entry door will have a
designation of (A) 800. (B) 400. (C) 600.
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36(0023064)

The load-carrying capabilities of a rivet of a given material are function
of the (A) style of head of the rivet. (B) the diameter of the rivet. (C) the
width of the bucked head.

ggreng foi 4 im % a2 (A) #04ER 07 (B) gk end s
(C) ) e hW A

37(0023066)

The use of pencils for marking on sheet metal parts should be avoided
because (A) they harden the sheet. (B) they are too easily erased. (C)
they may leave graphite on the surface of the material.
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38(0056954)

Composite materials are bonded by (A) specific glue. (B) copper wire.
(C) aluminum wire.
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39(0056983)

Battery trays are (A) metal for earthing purposes. (B) absorbent to soak
up electrolyte. (C) metal with PVVC coating and anti corrosive paint.
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40(0023049)

The normal spray pattern of painting is (A) a circle with a radius of 4
inches. (B) an elongated oval with a height 2.5 to 3 times the width. (C)
a circle with a diameter of 6 inches and a slight overspray in the
direction of travel.
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41(0023065)

The bearing area of a rivet hole is a function of (A) the material of the
rivet. (B) the number of rivet holes in a single plane. (C) the diameter of
the hole times the material thickness.
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42(0023046)

Aircraft structural units, such as spars, engine supports, etc., which have
been built up from sheet metal, are normally (A) repairable, using
approved methods. (B) repairable, except when subjected to
compressive loads. (C) not repairable, but must be replaced when
damaged or deteriorated.
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43(0057076)

What is the water line? (A) The zero datum from which all lateral
locations are measured. (B) A line below which redux bonding can not
be used. (C) The datum from which vertical locations refer.
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44(0057010)

The life of the helicopter structure is counted by (A) flying hours. (B)
pressurization cycle. (C)landings.
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45(0057018)

A partition within the helicopter's structure is called a (A) cleat. (B)
bulkhead. (C) frame.
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46(0056928)

In a helicopter with its main rotor turning anti-clockwise, which way
does the aircraft tend to drift? (A) Port if tail rotor is mounted on the
left. (B) Port if tail rotor is mounted on the right. (C) Starboard,
irrespective of which side the tail rotor is mounted on.
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47(0056919)

An advantage of the symmetrical section blades used on helicopters is
that (A) the movement of the centre of pressure with changes of the
angle of attack is greater than that of a fixed wing. (B) the position of
the feather axis and the centre of pressure and centre of gravity coincide,
providing stability. (C) the centre of pressure moves forward with
changes in angle of attack.
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48(0023202)

When the engine fails there is, in most helicopters, a tendency for (A)
the nose to pitch down and for the aircraft to roll right. (B) the nose to
pitch down and for the aircraft to roll left. (C) depend on rotating
direction of main rotor.
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49(0056973)

Which anti-corrosive treatment is found on alloy steels? (A) Zinc
plating. (B) Cadmium plating. (C) Nickel plating.
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50(0057083)

The purpose of the pylon supporting the tail rotor is to (A) overcome the
tendency for the helicopter to rotate. (B) overcome the tendency for the
helicopter to drift laterally. (C) assist the tail rotor in forward flight.
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51(0023075)

Motion about the lateral axis is called (A) pitch. (B) roll. (C) yaw.

52(0056988)

Sealant or levelling compound is installed during structure repair (A)
according to AMM and SRM chapter 51. (B) according to SB (Service
Bulletin) instructions. (C) according to separate manufacturer's
MEL(Minimum Equipment List).
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53(0057077)

Lateral stations have station zero at the (A) centre line. (B) nose. (C)
tail end.
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54(0023076)

In straight and level unaccelerated flight, which of the following is
correct? (A) Lift equals weight. (B) Lift is greater than weight. (C)
Thrust is greater than drag.
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55(0056910)

Translational drift is (A) the tendency for the aircraft to pitch nose up.
(B) the tendency for the aircraft to turn to port. (C) the tendency for the
aircraft to drift laterally.
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56(0056398)

The blade stalling speed will (A) only change if the MTOW/(Maximum
Take Off Weight) were changed. (B) be unaffected by helicopter weight
changes since it is dependent upon the angle of attack. (C) increase with
an increase in helicopter weight.
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57(0056900)

When entering into a stable autorotative state, the main rotor RPM will
initially (A) decrease. (B) increase. (C) be unaffected.
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